

अखिलभारतीयआयुर्विज्ञानसंस्थान,रायपुर (छत्तीरागढ़)

All India Institute of Medical Sciences, Raipur (Chhattisgarh)

Tatibandh, GE Road, Raipur-492 099 (CG) www.aiimsraipur.edu.in

Date: 11/05/2019

NIQ No:02/EE/AIIMS/RPR/2019-20

NOTICE INVITING QUOTATION (2ND CALL)

Sealed Percentage Rate quotation for the below mentioned work is hereby invited by The Executive Engineer (Civil) on behalf of The Director, AIIMS Raipur from approved and eligible Contractors/having GSTIN/PAN no. The relevant documents should be submitted to Project Cell, Hospital Administrative Block, Gate No-01, AIIMS Raipur up to 3:00 pm on 17th, May 2019. The quotations will be opened on the same day at 3:30pm. As per detailed below:-

The right to reject any or all the quotations without assigning any reasons thereof shall rest with undersigned.

Sl No	NAME OF WORK	EST. COST in ₹	E.M.D in ₹	TIME
1	Renovation work for department of Physical Medicine and Rehabilitation in AIIMS Raipur.		Rs.1,100.00	14days.

SCHEDULE OF QUANTITY

S1.	Description of items	Quantity	Unit	Rate	Amount	
As PER SHEET ATTACHED						

Terms & Conditions:

- 1. The percentage rates are to be quoted in words and figures inclusive all taxes octroi, transportation etc. (Nothing to be paid extra on this account).
- 2. Security Deposit 2.5% of quoted value will be deducted & will be released after 06(Six) months of successfully completion of work.
- 3. The work will be executed as per CPWD specification and direction of the Engineer-In Charge.
- 4. Time allowed for the completion of the work is 14days. It will be reckoned from the day award of the work.
- 5. The first and final bill payment will be done after completion of work as per specification.
- 6. All damages done to the building during execution of work shall be the responsibility of the contractor and the same will be made good immediately at his own cost to the satisfaction of the Engineer-in-Charge. Any expenditure incurred by the department in this condition shall be recovered from the contractor and decision of the Engineer-in-Charge about recovery shall be final.
- 7. EMD **Rs. 1100.00** has to be deposited in form of DD/FDR/BG in favor of AIIMS Raipur with quotation. In case the lowest bidder refuses to execute the work, EMD will be forfeited. EMD amount of successful bidder's will be released after completion of work.
- 8. Labour law to be obeyed by the agency.

(Er. Manoj Rastogi) Executive Engineer (Civil) AIIMS Raipur

Copy to:

- 1. The Director, AIIMS Raipur.
- 2. DDA, AIIMS Raipur,
- 3. Financial Advisor, AIIMS Raipur.
- 4. Account Officer-I, Project Cell, AIIMS Raipur, please process the quotation when put up and to be decided same day of opening only.

(Er. Mano Rastogi) Executive Engineer (Civil) AIIMS Raipur

0/c

11.05.19 (JAA)

3519

Name	of Work: Renovation Work for Department of Physical Medicine and Reh	ablilitation	in AIIMS R	AIPUR.	ALL FACTS IN L.
I.No.	Description of Item	Quantity	Unit	Rate	AllMS Raipur Amount
1	Providing and fixing in position Stainless steel Grade 304 plate-1.0 mm thick as per design for expansion joints.	Quartery	Oint	Nate	Amount
1.1	200 mm wide.	21.00	metre	681.47	14311.00
2	Marble stone flooring with 18 mm thick marble stone, as per sample of marble approved by Engineer-in-charge, over 20 mm (average) thick base of cement mortar 1:4 (1 cement : 4 coarse sand) laid and jointed with grey cement slurry, including rubbing and polishing complete with :				11311.00
2.1	Udaipur green marble	2.00	sqm	1854.35	3709.00
3	Providing and fixing tiled false ceiling of specified materials of size 595x595 mm in true horizontal level, suspended on inter locking metal grid of hot dipped galvanized steel sections (galvanized @ 120 grams/ sqm, both side inclusive) consisting of main "T" runner with suitably spaced joints to get required length and of size 24x38 mm made from 0.30 mm thick (minimum) sheet, spaced at 1200 mm center to center and cross "T" of size 24x25 mm made of 0.30 mm thick minimum) sheet, 1200 mm long spaced between main "T" at 600 mm center to center to form a grid of 1200x600 mm and secondary cross "T" of length 600 mm and size 24x25 mm made of 0.30 mm thick (minimum) sheet to be interlocked at middle of the 1200x600 mm panel to form grids of 600x600 mm and wall angle of size 24x24x0.3 mm and laying false ceiling tiles of approved texture in the grid including, required cutting/making, opening for services like diffusers, grills, light fittings, fixtures, smoke detectors etc. Main "T" runners to be suspended from ceiling using GI slotted cleats of size 27 x 37 x 25 x1.6 mm fixed to ceiling with 12.5 mm dia and 50 mm long dash fasteners, 4 mm GI adjustable rods with galvanised butterfly level clips of size 85 x 30 x 0.8 mm spaced at 1200 mm center to center along main T, bottom exposed width of 24 mm of all T-sections shall be pre-painted with polyester paint, all complete for all heights as per specifications, drawings and as directed by Engineer-in-charge.				
3.1	GI Metal Ceiling Lay in plain Tegular edge Global white color tiles of size 595x595 mm, and 0.5 mm thick with 8 mm drop; made of G I sheet having galvanizing of 100 gms/sqm (both sides inclusive) and electro statically polyester powder coated of thickness 60 microns (minimum), including factory painted after bending.	11.00	sqm	1215.64	13372.00
4	Distempering with 1st quality acrylic distemper (ready mixed) of approved manufacturer, of required shade and colour complete, as per manufacturer's specification.				
4.1	Two or more coats on new work	140.00	sqm	62.01	8681.00
5	Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade :		,		3332.00
5.1	Two or more coats on new work	150.00	sqm	98.53	14780.00
w	Total				54853.00

Percentage Quoted Rate in Figure	
In word	WILLIAM .

(Signature of Contractor)

Address:-

Contact No. :-

Email:-

Executive Engineer (Civil)
Project Cell, AllMS Raipur

